AR & ) — MR o0 FE e — B %

(1) (2) (3) (4) (5) (6) (7) (8) (9) (10) (1)
FEVEHR B | FRYEM OPTE L OHER Y O eS| FEvEM () - (FRiERhe | EMEH o | FERER ORI | FEER O D o Lo R | FEIERORTRE | FEEEICOWT | EEEROSKE T O | FUERIR D
ZN A (F) 1 | HOREPIRL IR DB, OB AR DK, HAM (o=@ | iR oM
. A= Y | E Sy (nd) FEMEER K VR K 5% & OFEL OB (S OFIR T E
FEVE R = DAk (M) TH DA ORI g h D
E[d fi | L 7 4B X JEEE] PR EEN 2 VX B 6m |7KiE KICER
THE710%113 111, 000 208 1.2:1 WK L Lo e | T H A 2 e
B - 6 Tk (60, 200)
|4 W2 2. 3km
107, 000
- 17
E[d fi] | L1 77 4B X FE I — RN 2 WX [0 5. 7m | /K& fifimi— = BR
—EFEPH421%15 65, 500 163 1.2:1 AR L LRy (T WA 1EE
(B - 11 (60, 200)
=4 W2 800m
65, 400
- 20
E[d fi] | L1 77 4B X EERESAT FES e AeEE~ > | 50m |k fil 111 51
FILF1TH2®107 464, 000 247 1:2 Toa UL S | RE A [GES
(B) 5- 7 117 Tk (80, 600)
1t RC5H 950m 5k
MM F1—2—8] 450, 000
5- 8
E[d fi] | L1 77 4B X I & INFETEEE, B SERTE N | R 27m |/KiE fo] | L1 R
HITL1TH303%4 157, 000 330 1:1.5 B 53 P B ek [ SR
(J&) 5- 16 Tk (80, 200)
It LS2 4. lkm el
[FIL1—11—8] 157, 000
5- 13
W fi] | L 7 R X FE AR EESE LI | 6m | /KiH fi] | L1 R
IR FAK 3 0 1%K26 58, 200 167 1.2:1 SR e i A H A 1{KE
() - 3 Tk (50, 100)
CE LS2 6. 6km
58, 300
- 10
W fi] | L 7 R X eSS IR — N2V el 6m | /KiH 75115
FNRFRBHER3 5 4% 1 4 92, 000 158 1:1.5 Bl 2 i FLIE 5 A 1 hE
B -7 Tk (60, 200)
H W2 1. 4km
91, 000
- 4
[ fi] | L1 717 P (X FE IR —REE N2 VEE B 6m | /K3H fi] 1 L1 R
BHIFIEDORT 9% 4 69, 800 169 1:1.2 A A ik Dipt:l A 1 E
(&) - 5 Tk (60, 200)
W2 8. 3km
[BHIFIEONT2 1 —1 6 69, 800




AR & ) — MR o0 FE e — B %

(1) (2) (3) (4) (5) (6) (7) (8) (9) (10) (1)
FEUEMR S | FEVEHL O PTE K ORI ONC R 3 R (F) - [JEEhe  |JREM o | FEMERIO R | FEERL O JEE o LR JEERORTHE FEERIZ W T [ EEEROEEZ O | FEEMIZIR 246
ZN PEAE (F) 1 | HORENEL IR E:TRI) M OB B ORI DK, HAM (o=@ | iR oM
. ST A=Y Y |TE Sy (nf) FahEEX L VK (5% & BT O | 1ES OFIRTE
TEEE W 7 DAk () TH DA ORI g h D
B Aot JEEE] PR — R EE N2V B 4. 2m [7K3E AR
FEpp T RKEILET6 163%6 7 75, 000 156 1:1 FHE S 1% Oy i S e | T E A 2
(B - 9 Tk (60, 200)
Bl W2 3. lkm
74, 700
- 16
Bl Aot FE PR —REEo A5 [ 6m |/KiE JRAEBR
HE5TH3F4H 47, 400 305 1:1.2 Z X [l AR H g 0> (5 kel | T E A 1EE
(&) -18 Tk (60, 200)
A W2 1. 5km
#HE 5 —3 —5 | 47,000
- 23
Bl BHoh FE AR EEE L |k 4m | 7K3E LR
REWER 2 TH207 3% 1 42,900 243 1712 T 5 (5 Hiulgg miE 1FE
(&) -23 Tk (60, 200)
A W2 1. 3km
MEEMEg 2 —3 —1 7 | 43, 000
- 35
Bl AHh FE IR — RN Z < 2 B 4m | 7K3E AR
ERMAB3ITEHS 1 5%S8 50, 500 225 1:1.5 GRS S | TE A A 1R
() - 31 Tk (60, 200)
B LS2 2km
(RT3 —7—12) 50, 300
- 48
Bl Bt FHT JEEE, FEAT. AEA%K% 9. 4m |/KiH AR
1 THG662%K2 157, 000 311 1:2 Wi &% D IRAE$ 5 3 gk | i3 5 A i
(J&) 5- 5 Tk (80, 200)
B W2 700m HeRh
M1 —12—3) 154, 000
5- 2
B HE LT eSS AR — B EE S SO IX | 5m | /K3E A LR (#8)
INH126%F15 44, 300 214 1°1.2 EERAK L - s | TE HA 2 hE
B -1 Tk (60, 200)
oI LS2 3. 2km
44, 300
- 2
Es EH g FE HFHE—REERZ WX LR 4.5m |KHE FRFER
EF2TE1091%233 36, 000 223 1.2:1 EEEAK L e e 1 HhER
B - 4 Tk (60, 200)
E LS2 5. 3km
[EJfi2—4—14] 36, 400
-9




AR & ) — MR o0 FE e — B %

(1) (2) (3) (4) (5) (6) (7) (8) (9) (10) (11)
FEEHR S | REMOFTE L ORI NSRRI (R) - (Ao | BERoR | REMOFR A | RO ED O HHoFR| | EERMOFTHE | EERIZOWT | EEMOENEZ O | EERIZR L0
R FEUERN (F) 1 | HURENAEL IR DI oI B OARDL DIKE, HAME o> IR W | T EHREZE O
o IS ) |5y () BRRRFA |37 L OBSEORI | OHIRCE
G 2 AG) EOREGE OB BEHO
i T TE —EEEE P ICRbEE AR 6m /K& G (#6)
ST IR S 6 2 8% 3 7 42, 300 164 1:1.5 HIR(ET 2 HHLEE Hsk |1 1L
(B) - 6 Tk (60, 200)
R [l W2 1. 2km
42,400
-1
o AT T S T | A SR D A7 B X |7 16m |k iE EATEN (#5)
PN 3 % 2 0 69, 700 339 1:1 SR L U= e S sk [IEEE TR
(B) 5- 1 Tk (80, 200)
A5 i) S2 1. 4km
70, 200
5- 1
Y xanii = R — B OIZ A | B 6m |7K3E N
k6 TH1%H115 55, 700 218 | 1.2:1 HbMET B | TE 1{EE
BR) - 6 Tk (60, 200)
(‘%\*‘H: W2 1. 4km
54, 900




